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Viennese waltz

Match evaluation

Each player plays his own ball, only the best scores per hole are counted, The best score on the first
hole, the two best scores on the second hole and the three best scores on the third hole are counted.
Then it starts all over again, i.e. the best score on hole 4, the two best scores on hole 5, and so on.
(hence the name waltz of 1-2-3, 1-2-3,…)

Processing

Here you can read general information about Team evaluations

Select the following setting for the tournament via the team evaluation helper:

On the results list you will see in Boldwhich points are scored. 87 is the addition of these scored
points. 87 -15 gives 72 - this would be the case if the HCP had been played exactly (in this case, if
each scored result was 2 Stableford points, this would give 72). The added Stableford points in the
players' row are the complete added results of the individual players, regardless of whether they were
included in the team score. Have a look at the following screenshot:

https://doku.pccaddie.com/doku.php?id=en:turniere:drucken:teamauswertungdrucken
https://doku.pccaddie.com/lib/exe/detail.php?id=en%3Aturniere%3Aturnierpraxis%3Awiener_walzer&media=en:wettspiele:turnierpraxis:walzer.png
https://www.pccaddie.com
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